EXAMPLE 5 The minute hand of a watch is 1.4 cm long. How far does its tip move in
45 minutes? (Use m = 24 )

SOLUTION In 60 minutes, the minute hand moves -

through (2m)°“. “\\

In 45 minutes, the minute hand moves 1.4 cm \1‘
through (2_1! X 45) = (E) : }
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Distance moved by the tip of the minute
hand in 45 minutes is given by

1=re=(1.4x 3—“) cm=(1.4x§x£) cm = 6.6 cm.
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EXAMPLE 6 If the arcs of the same length in two cz:rcIes subWM 60° and
75° at their respective centres, find the 1,

SOLUTION Letr andr, be the radii o @t@ es. Then,
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Let the length of each arc be [ cm. Then,
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